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Sifleyenrast @ (1)  Siwangg alamésenn sfwurs UHeaurd edargr erenugenar sflLTTSEIS

Instructions :

GLINIE

Note :

(i)

@

Qararerayb. eFaiiudeld GampuimLiden, wimps samsraiumarilLb
o Laligirad Glgfleldsa)b.

(2) Beod @@z sEUY eolea LLHGD dEsusHED
25.6CaTLRushEn VuaT(Bss Couam(Hb. ULR&E aarusnE
Quenfléd LwsTLHSS6LD.

(1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@d) - 1/ PART - 1
SienenSg HlenTésEREED eflan watlsse,b. 20x1=20
QarhHesuul Herer mres@ wrny el seald Waab gnyemw
e aws CoirlasBsmnd GRS HLer afleulmeanub Gensgl
ET(PEAID.
Answer all the questions.

Cheose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
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1. ueTLESEr nhmih Uamilsdr aifl GTGITLI

(1) wAUY sl O’ L qufl Gunenmg

(<51) Leppenar auff)

(@) @mepset auf, ShEE efleneraysearnmng
() @@&E Aamarasmears Qaram_g,
Goods and Services tax is

(a) like value added tax

(b)  a mult point tax

(c)  a single point tax with no cascading effects

(d) having cascading effect

2. y-y)=mx-x) Grs’érrug)] &H&@h.
(=) mn@e&m@ (<) smieney
(@) auemerGar_en (/) GCrrGasm’enL
(y—ys) =m(x—x,) gives the :
(a) Constant (b) Slope
(c) Curve (d) Straight line

3. &b eums msmgulidn GumiyCGu ‘@UWQ ?

(=) Boert pppfeow (=) Blenpays Gum’ip
(@) daGart aphmiflenin () @pomfenn

In which market form, does absence of competition prevail ?

(a) Duopoly (b) Perfect competition
(c) Oligopoly (d) Monopoly

4.  Qurgg wrpré Gewe) 1,000, Gwords wrmh Qsewey 200 erafid Qursss Qsavenaus

sasd D,

(<) 500 (<=4) 800 (@) 20,000 (F) 1,200

If total fixed cost (TFC) is 1,000 and total variable cost (TVC) is 200, then find the total cost :
@ 500 (b) 800 (€ 20,000 (d) 1,200



5. apomiflennuilds MR Gar(y Gt vy Bl
(o) AR (=) TR (1) A (rr) MC
In Monopoly, MR curve Ties below curve,
() AR by TR () AC ) McC

6. & Mmeasa wdral®, Qeuallli@a@nde @len Gur o dar Gumurer Ggm_ien

SOaimH _ arer cenpdaliuGaAng.
(=) Gaidlily sy (<) mIsTey FmiL|
(@) apedi® anfy () epusd smiy
The functional relationship between “inputs” and “outpuls” js called as
(a) Savings function () Consumption function
(c) Investment function (d) Production function
7. ‘CGumed eunyn' ereénm H(EHSEH o |6 Qasrfen wig).
(=) eurdsi (<2t) MaariGLr (@) wriage (/) Eeren

The concept of 'Quasi Rent’ is associated with :

(a) Walker (k) Ricardo (c) Marshall (d) Keynes

8. ALL&@GY erenusn@ Wwrhnrs Grangnld ienliy 2015 -1b e
menaufl 1 -yt mHrer goUBSSILLL &)

(=21) o146 B9 (<) BE oG
(@) walls zMenn openemmuLD (rr) B8& @

The Planning Commission has been replaced by the on 1% January 2015.
(a) Law Commission (b)  NITI Aayog
(c) Human Rights Commission (d) Finance Commission
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a9,

10.

11.

12,

.|T‘.mim| anay agnaif (ﬂ]-"N‘f—l]-’iiﬂﬂd'{[\)\ Garh

(=) S (1) Gaenadh

(@) efmuean () i

Long-run average cost curve is also called as curve.
(a)  production (b) demand

{c) sales (d) planning

1 L ANIEIO]
Grasim LD -Bl(ﬂJI,pmeF,IJ Hl

£lnml

Bndfealt Lustur® syfluwors BmsEe Gurgl Qorssl) LwerUT®

Henevarit SieoLdmg).

() syfwionan () GopauTan
(&) erdlrenmuimen (/) ogsmen
When marginal utility reaches zero, the total utility will be :
(a) Zero (b) Minimum

(c) Negative (d) Maximum

MUDRA euiad)l Qeudu@ssiul L spareald sar pls,
(<21) 2010 (<=1,) 2000 (@) 2015
Identify the year of launch of MUDRA Bank :

(a) 2010 (6) 2000 (©) 2015

LUESTD phsTan(Bs il ST
(==) 2007 - 2012 (<24,) 1992 - 1997 (@) 1997 - 2002
Tenth Five Year Plan period was :

() 2007-2012 (b)) 1992-1997 () 1997 - 2002

(/) 2005

(@

2005

(/) 2002 - 2007

(d)

2002 - 2007



14.

it
o

16.

i

apgdanu e Gaaaniet comellan apg s uild) anpristiuiin el

(=) slan(RE saa (=2y,) Cnugena s sl

(@) Gy anl (IF) e amening el

Wages that are paid on the basis of quantum of work done s
(a)  Picce wapes {b)  Nominal wages

(©) Timwe wages (d)  Real wages

Ao’ o pudsHGD HppI® QBEu el Blenaoulldy 2 erensy.

(<) s (<) apehiprid (@) @remimb () mBreémsmo
In India’s total coment production, Tamil Nadu ranks :
(a)  first (b)  third (¢) second (dy fourth

upprEG@PY QurmeTTsTy Bleossarsden < fflwui wrr 7

(=) Qrmlenen (=) sLb s (@) Frumteer (FF) Wriasd
Who has given scarcity definition of ‘economics ?
(a) Robbins () Adam Smith (c) Robertson (d) Marshall

Gummss HenL Csirs :

(1) Bed gyl i) eranblemnl eflsgsser
(2) wEpear Yrlél (i) @mré
(3) embuw Yrls (ifi) Ser

4)  @ergsdleutiyts yylf (iv) o pEseEr
(==t) (1)-(i), (2)-(), B)-(iv), (4)-(1)
(<) (1)-(ii), (2-Gv). (3)-(), (4)-(id)
(8) (W)-(iv), @)-(i), 3)-(D). (4)-()
(rm) Q)-E), (2)-(1), (3)-(iv), (4)-(iii)

Match the following :

(1)  Blue Revolution (i) Oilseeds
(2) Yellow Revolution (i)  Shrimp
(3)  Grey Revolution (iii) Fish

(4) Pink Revolution (iv) Fertilizers

(a) (D)D), ()1 @)-(v). (4)-(ii)
(b)  (1)-(iii), (2)-(iv), (3)-(D). (4)-(ii)
() (1)-(iv), (2)-(iid), (3)-(ii), (4)-(1)
() (M), )0} @)-(iv). (4)-(iiD)
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19.

20.

i i oy et
) P ' i x fsent lLIMm ~2,emrh
(@ IHLIMTIi‘(‘.'_!,ri|.I‘|"F\l\‘m]|'h’!-ﬂi-hl Gy Giflana .">|Iﬂll_«’l-;”1ll" (DI plerent o

00
() 2008 (1) 1998 (@) 2010 W
Amartya Kumar Sen received the Nobel Prize in Leonomics in the year

(@) 2008 (h) 1998 (¢) 2010 ). 206

: . ; : . ) BAlwrellen
e.@dld agieural Quirgarsiibismerds Qmrer pr(Hiser euilangulev @Dé‘

Quib :

(=) mba (<) prrengs (@) upal (o iR
The position of Indian Economy among the other strongest economies in the world is :

(a)  Fifth (b)  Fourth (c) Tenth (d) Seventh

srrefl e HusEl (AP) -epwé semsd LuaTUEL GSS T
(1) TP/MP (<=4) ATP/N (@) TP/N (FF) ATP/AN
Formula for calculating AP is :

(a) TP/MP {(b) ATP/N (¢ TB/N (d) ATP/AN

“wallgaymw arpimauien semnTL Hlalydmasmer UhBl Curgmelud
SrmUdlng)” erenm Sadlusul

(<31) <evelbFL riTage (<21) 1D GolE

(@) enpGaudaar () @evwiamed Fmamev

“Economics is a study of mankind in the ordinary business of life” - It is the statement of =,
(a) Alfred Marshall (b) Adam Smith

() Samuelson (d) Lionel Robbins
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Lghfl - 1T/ PART - 11

@iy« semaGuanbd aup clamss@nda almwialbaab. aenr erem 30 -6

Snwns eSlaniallsaa|ib. 7x2=14
Note : Answer any seven questions. Question No. 30 is Compulsory.
21. 2 huEds smpaflseomar aumaliLBESSIS.
Classify the factors of production.
22, Udliey erenmmed ererar ?
What is meant by distribution ?
23. Quongs wirfle o 6mmrf amug)gc,l (GSDP) — euenriLmISESaLD.
Define Gross State Domestic Product (GSDP).
24. @pHus Qurmetrsrysden aGsab ¢ Guaibanats Fpis.
State any one feature of Indian Economy.
25. LPG Qsratensanins Qewudu(psss sryewh ererat ?
State the reasons for implementing LPG.
26. QeueflluenLwmeand GEwa|sar erenmmed eramen 7
What is meant by Explicit Cost ?
27.  weflg Gubur’ (& @iluil Gl ar (HDI) wpmib eurpéamss sré ol Quearr (PQLI)
< Awebenn CeumUfs)s.
What is the difference between HDI and PQLI ?
28, eflgpliuiisener cuanslLRSS (SIS,
Write the classifications of Wants.
29, mieentlued GUmGeflLenay eUaTIImI&ESEe]LD.
Define Micro-economics.
30.

CGurlqulien g iten 106 ikigmg.anw oS0t ANIRTCE: 7:5F:
Classify the market on the basis of Competition.

[ S¢miiys / Turn over
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u@nd - 1/ PART - j11

i . . ‘ s : -&
GOy : sTemeuCignyib ap elenmam@nig oilen weaflssab. slam sre 40 (2(342]
SUL_munne aflenwiafldmayin.

J oo LA s ~ p 1
Note : Answer any seven questions. Question No. 40 is Compulsory.

3. feL sraé Qaea) eumarGmm’_enL &8 auenTUL Gy e efleuflEgmaln.

Explain the Long-run cost curves with suitable diagram.

(%]
ra

sumrD wmmid Cured eumplh — Capu@sais.
Distinguish between Rent and Quasi-rent.

33, &gmo siGaurswur uhl Sy GOl er(pgs.

Write a short note on Village Sarvodhaya.

34. SHG -uflerr Uty senars GOIL9Gs.
Mention the features of SHG.

35.  vwerurliger apsdlu @i seT Wrened 7
What are the important features of Utility ?

36. Blegdler Anlnfwdysdr wreear ?
What are the characteristics of Land ?

37. suCrrag sumarGaraailean LishTLser wWreney 7
What are the properties of Indifference curve ?

38. aflhuenar QlEwey eTammTd eremer ? SHS@man eT(HESISET Hon eflemd@s.
Explain the meaning of Selling Cost with an example.

39. sl prigel sl eeansd LDHl GHLL arpss.

Write a note on mineral resources in Tamil Nadu.

40. Emeps phmiflenin eTemmTad erevar 7
What is Bilateral Monopoly ?
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Lk - IV / PART - 1V

GOl enenss) ellenismamé @D afflen_wieflsse b, 7x5=35

Note : Answer all the questions.

41. (=) AleCGami apimiflenwuller Lew senar eflemd g,
AN
() el sras Henes Cordamars sEbs UL ssLan allaifldseb.
(a) Describe the features of Oligopoly.
OR

(b)  Discuss the Short-run cost curves with suitable diagram.

42. (=) auenfls surifleer BT QL ebWTESUILULL SHETaT STTaThsameTs @l Ha.
S|80605

(<) 2015-2020 b wergpesrar gpowd, Bnsewds Qsrdareamsuden
A Quiedmener aflerdiGa.

(a) Explain the objectives of nationalization of Commercial banks.
OR
(b)  Describe the salient features of EXIM policy (2015 - 2020).

43. (=) Gumgpaflwele UGssTlal LHMIL AFTEEETLeY (Weapsaia Ligsamer
aflend g5,

SiEV0G)
(==1) o eSdlg eflenerey eilflenil suenruUL San e eflerdEs.
(a) Explain various steps of Deductive and Inductive method in Economics.
OR

(b) Explain the Law of Variable Proportions with the diagram.

[ &miiys / Turn over
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44.

45.

46.

(=) Caeman Qpdipsflenu wiarell@ epenmEeT wWireneu 7

TGN ]
(<) sLen HF euligds Gariur’ e eflerdgs.
(a) What are the methods of measuring Elasticity of Demand ?
OR

(b) Elucidate the Loanable Funds theory of Interest.

(=) 9.7 SAbCUSST euisEremLU WsHw QuTGaTTETrs SMHES ST
aflerd G,

I YMENE ]
(<=,) MariGLrellen eurpds Gamlum el erBsgmssr e aflaflésea|b.
(a) Explain the main economic ideas of B.R. Ambedkar.
OR

(b) Tlustrate the Ricardian Theory of Rent.

(1) BAT&ES SELGEHRESTET STTERISMET 4TS
REYLNVE]
(<21) Bl Brligaestar LaGam aumswIrer <L hpd auatismer ebleuflEsa)n.
(a) Analyse the causes for Rural Indebtedness.
OR

(b) Explain the various sources of energy in Tamil Nadu.
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(=) () safls gpeopullan Curmerrsryl Uwearur@aser gGoenid eperblene
T (LI i
(i) eays oS Qeusd Hbsasarer sryamiisaics aCaaid E)ram aens sms.
LIV ]
(=) Aymof slfleowts LweuBSH Qarhssiu’ Herar CprGaT._HF oG-
s@HEGS Sre| srems.
7x1—x2g13=0
1Ux1—2xz+x3=3
6x; +3x) = 2x, =7
(a) (i) Write any three uses of Mathematical Methods in Economics.
(i) State any two causes for housing problems in rural areas.
& - OR
(b)  Sclve the following linear equations by using Cramer’s rule.
Tx;—2x,—x3=0 .
10x; =23, +x3=8
6x; +3x,—2x,=7

-o00o0-
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